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Math 141 ' NAME: K@;‘A

Test III, Spring 2004 100

chapters 6, 7 & 8 Seat:
Partial credit is based on work shown!

6pts

!
) . 1 e ;
})5 1. a. Using a method we discussed in class, compare the size of :—Oand—l. Which 1s b1§§er? 5
/s

T B Uoe LED ooy Ho Comvondion, |08 Cross malX . of comvet 4o deeii, 0

F .
/ __Z_::%"L:; '%&% - 90s) < 10G) TDZ-,-,V

e j 65 <= jio , e
o= 2= I o e =,93
. =3 Zo b T 11 15 °
b. Find a fractigh betweey Eana’——. Show your work. ; _
0~ 0 ¢ L 10516 1% ) e Lot M= 1S
e e N AN

: 0 ' o P |
¢. Which pléoperty of¥eactions does this illustrate?™__ ;_‘L
6pts . /

1 4 ' ' .
2. Show how to illustrate 5 of 5 using a rectangular diagram (with each fraction and answer labeled).

f,g"(«l “&02 B A;/é{:

NG AT

L

opts \
3. When you lﬁtiply whole numbers the progluct is larger than either of the original numbers.
a. Is this also true for proper fractions? Explain and give an example:

@ﬂﬁ/ﬁ__ otter Srodovmad ‘1&4-6:.-(0& answer (s Hhnelle, e cul,,
of «te av‘f/w(,wQ#S' e #Q%’w -%’X %::_-;%“ R < &rf
b. Is this also true for improper fractions? Explain and give an example: e ; #5

w%\yw »N.‘de’ffy bgropartra o s te #s ace S, S;,/ckw,\

Meore fla. all of tte 5 x4 - NECY .
- — - i #‘ B, 4x~§_%‘@_5{_3‘é— >‘f"ﬂ~\vrﬁ

e ﬁ ........................ B
4. a. List the elements in the set of integers: { @y, —3 - ' AN !./3 — 2 }
b. Is the set of integers closed for subtraction? _ygeg” 7~ f, o, 1,2,°5,°°

v

Explain: | |
P AN I yoeu 5«4,[7‘}7’0-5? ff;i "ﬁ»’b ;h*?&rj “f‘le 2ag -
4!;:427.;' aretber }n‘frynr, e

c. Is the set of integers closed for division? '2 (%)
Explain: .
l/QL\ﬂfm\)('m &;Uf‘Qe -fL\rc (ﬂ“‘e’f(/_g 71»&& _i6_.,
tmsuer Con be a g X i< pot a. (hges
E)( - 5 L — 5 . ‘
a”TPQ" S 2 § = (‘t‘-a,-—)wkc& o net ’-\.l,.l-(%’
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5. We studied four different ways to illustrate integer arithmetic.

< o — starf aith ‘7‘f°‘3’+/\r:.s
LD _‘h“”e"‘p\“""““*/*e%
~y£3ya 1 o 1 A3 58(g 7 pesit Ares_ '
21 Sre / ’-J("‘Z\ 3
- b. Building from the fact that (2)(- 4) = -8, finish this number pattern to illustrate why (-3)(- 4) = +12. .
(2)(-4) =-
(1) (-4) =-4
O (-4) = ©
“lCY)=_4
-2 (-4)>+¢
&)Y )= £ (2
4pts
6. Simplify each of the following using rules of exponents. Show your work to illustrate the rule used.
+5) . 5 -
a 47 475 = 1_/'7 (_)_L/:L b'6_,3=ég L})ﬂéy
Py, _L — 6
7 Show your stelt)s to illustrate an easy way to divide these numbers; write your answer in
scientific notation.
1.5x10°° 1.5 ~5=(-12) _ LT e
_ = -
3.0x10™" 26 X 0 = 0,5 X |0 ~@ X0 )
Opts
8. Write each decimal as an equivalent fraction. Slmphfy, if possible.
a. 024 _n’“a . b. 0.24242424.... .. c. 0.524242424...
’723/ < %5;—\ /8 IDDH»SQ"HQ“QW';;VI(
. N s - 2 iy
. U@ N 5ae3t
—— »._—"__l — i )
a5' 79/ =501 "73 .
12pts - N = Sk, 2 §9@ (""3 30 ) !
9a. Explain an easy method to mentally calculate 10 % of any number. alsd glve an exa I\ N 2

Sa Yo Wﬂmm pég_q-l-a Ex. (09;#%7{? #

r

b. Explain an easy method to mentally calculate 20 % of any number. Also give an example.

T34 30% wou ALY 162 ah Qe i, B x 209446 =2(‘“7=n
1% .
2 Fihh el # (singe 255 Bok)  Jeofrs=9

c. Explain an easy method to mentally estimate 68 % of any number. Also give an example.

To eatinih 6 Lefad, par covtd ford _

4

, 1
V0% of # Fx P2 60= Foofe? = 4R
oL Fo Ex Ko b6= 209 =40
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10a. Show an easy way ﬁ estimatgxhis b. Calculate mentally using the distributive
product using a fraction with a

property. (Show your thought process.)

compatible number.' | 8 x (9 %j = 9 (47) + &[ % .
034 x 6252 4 ° 66O = oo . Yoy
ov )251 63e = Ko B '

=7%
6pts

11. A photograph measuring 5 inches by 7 inches is to be enlarged so that the smaller side,
when enlarged, will be 8 inches. When enlarged, the longer side will be

inches.
Solve using a proportion, showin 7 your work.
o 5 . K
7 x ZAN: |
= Sx =50
I b=k Mo,
9 pts ¥

12.a. A school fund-raising project has collected $7 whi b. Dlustrate this problem by
is 62 % of its goal. What is the amount of the goal for shading & putting appropriate
for this project? {g ©p Solve using a simple numbers on this diagram.
algebraic equation, showing your work.

$ X 00 %
T ou- pa2 of x 74 (2%
7‘/7:06;1"} ;:;::_E;
Vgl =
-ex 9<n $0'% 0 %
10pts |&oo — >

13. a. State the theorem from section 7.1 that lets you decide whether a fraction will have a
terminating decimal representation. ‘

Simplly e {?‘,Hﬁ?‘s\\ w\_ﬁf% of e T16f) oo Prine @«;e% o,
&wr‘: I{* “He prinme Q@prg ar & e—;\t!: Ra g/ s
‘-,’ﬁ& &M"’*& "‘)"H ‘mf"“\lmg’ CI‘F‘fe‘lfe are wa%‘@‘-«jﬁfj—&%

b. Without dividing to convert the following fractions to decimals, state whether or not each would ey
be a terminating decimal, then explain how to determine this using the theorem from part a. tafindte -
L _d ’fﬁf"‘;‘z’“ﬁy, Lol wmet -k—rw""@“y i
560 ~ §o z ‘ 42 & ’
Explain: Explain:
Tla priae .(l,,_,;(lz,,:_s ) -
?0 s\’( f . l{‘(/L\Q /é\‘ "11\9_ 69 - l“k_ﬁ. ‘@dbﬂ 3 -
/\ ""VL‘((&) &%NK&W ‘ %@/\) S( [‘ . 67 b‘\ \f{\p
A e el g GRS w
L= 2
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